Solve-and show your work,

1. 38+46=_84

/N

2. 26+5 81

f\_

3. 68 + 17=_85
AWA
680 8 18 7

First, | think about making the

38+ 2 = 40 next ten! 1can break apart 46
o ‘ and add Z to 38, which makes
40+ 44 =54 40. Then, | add the rest, 50
40 + 44 = B4,
BE 4260 =75 This time, I can start with 55 and |
95 46 = g1 add 20 en, ta add 75 + 6,1

can bregk apart 6 inte 5 and 1 to
make aten. 7545 = 80,and 1
more is 81.

A

60+ 10 =70
B+7 =15
70+ 15 = 85

| can break both numbers apart
into tens and ones. | add tens first
and then ones. | can combine

- them, 5070 + 15 = 85,

is tesson 14:
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Lidd.a pair of two-digit numbers when the-ones digits have a sumn greatar
than 10 usitig decomposition,




